Additional Electronic Configuration

and d-metal complex nomenclature problems

1. Identify the element represented by the electronic configuration: 1s22s22p63s23p3.

2. Identify the 2+ ion with the configuration of [Kr]4d5.

3. Identify the element whose electronic configuration is represented by [Ar]3d104s2.

4. Write the name of the complex [CoCl(NH3)(NH2CH2CH2NH2)2]2+.

5. Write the name of the complex [Pt(C2O4)(NH3)2]. What is the geometry of this complex?

6. Provide the formula of the complex tetramminecopper(II) sulfate.

7. Provide the formula of the complex amminetrichloroplantinate(II) ion.

8. Give the formula and name of a complex formed from one Co3+ ion, two ethylenediamine molecules, one water molecule, and one chlorine ion. What is the geometry of this complex?

Solutions:

1. P

2. Tc

3. Zn

4. amminechlorobisethylenediaminecobalt(III) ion

5. diammineoxalotoplatinum(II) , tetrahedral (remember that ox is a bidentate ligand)

6. [Cu(NH3)4]SO4
7. [PtCl3(NH3)]-1
8. [CoCl(OH2)(NH2CH2CH2NH2)2]2+, aquachlorobisethylenediaminecobalt(III) ion, octahedral (remember that en is a bidentate ligand)

It would be good to draw all of these complexes as well.
